
 
 

 

 

KTM Duke 390  (2024+) Cargo Rack Installation Instructions 

TOOLS REQUIRED: 

o 12mm socket and ratchet 

o Plastic-tipped prying tool or flathead screwdriver 

o [Recommended] Torque Wrench 

o [Recommended] Medium strength thread-locker 

 

INSTALLATION NOTES: 

NOTE#1:  The Vagabond Motorsports Cargo Rack will work with either the factory rear fender or the Vagabond Motorsports Fender 

Eliminator Kit and installs with the same steps below. 

INSTALLATION VIDEO: 

We’ve created a YouTube video to help explain the installation steps in more 

detail.  Search “Vagabond Motorsports 2024 KTM Duke 390 Cargo Rack 

Installation” or follow the link here: https://youtu.be/6iAEE52FOeg   

INSTALLATION STEPS:  
1. Remove the four plastic plugs in the tail section of the motorcycle (2x 

each side, FIGURE 1) by prying up under the head of the plugs.  Avoid 

using a metal screwdriver to prevent damaging the paint on the 

motorcycle.  A pair of plastic scraping blades work well for this task. 

2. From the rear of the motorcycle, slide the rack forward and align the 4 

holes in the rack with the subframe mounting holes. 

3. Apply a small amount of thread locking compound (Loctite Blue and 

Permatex Orange are both good choices) to the threaded tip of the 

provided bolts. 

4. In the front two holes, install the shorter 20mm long bolts supplied in 

the kit (12mm hex head, FIGURE 2A). 

5. In the rear two holes, install the longer 35mm long bolts with the 

aluminum spacers provided in between the rack and the subframe 

(12mm hex head, FIGURE 2B)). 

6. Tighten the 4 bolts to 26 ft-lbs (36 N-m) with a torque wrench.  

 

 

 

 

 

Questions/Comments: 

Visit us at www.vagabondmotorsports.com 

Or email sales@vagabondmotorsports.com 

 

P/N: VM-KD350 

Fender 

Eliminator 

• 1X M4 bolts 

(for OEM 

KTM 

license 

plate light) 

• 2X cable-tie 

mounts 

• 2X cable-tie 

mounts 

• 2X rubber 

bumpers 

(prevents 

license 

plate 

vibration) 

• Fender 

Eliminator 

• 1X M4 bolts 

(for OEM 

KTM 

license 

plate light) 

• 2X cable-tie 

mounts 

• 2X cable-tie 

mounts 

• 2X rubber 

bumpers 

(prevents 

license 

plate 

TERMS & CONDITIONS 

Legal Notice: The purchaser and/or user of any Vagabond Motorsports, LLC branded parts releases Vagabond Motorsports, LLC from all liabilities pertaining to use of the parts.  The user 

acknowledges that any modification, alteration or change to a motorized vehicle may increase the risk of accident and/or injury.  Additionally, the user acknowledges any change may render 

the motorized vehicle illegal for use in public roads. Warranties: All Vagabond Motorsports, LLC branded products carry a one-year limited liability against workmanship and material defects.  

This Warranty is provided to the original purchaser of the products. Return Policy: All approved returns must be in new and unused condition within 90 days of purchase. 

 

PARTS INCLUDED: 

• Cargo Rack  

• 2X M8 x 20mm Flanged Bolts  

• 2X M8 x 35mm Flanged Bolts 

• 2X Aluminum Spacers 

1X M4 bolts (for OEM KTM license plate 

light) 

• 2X cable-tie mounts 

• 2X cable-tie mounts 

• 2X rubber bumpers (prevents license plate 

vibration) 

• Fender Eliminator 

• 1X M4 bolts (for OEM KTM license plate light) 

• 2X cable-tie mounts 

• 2X cable-tie mounts 

• 2X rubber bumpers (prevents license plate 

vibration) 

• Fender Eliminator 

• 1X M4 bolts (for OEM KTM license plate light) 

• 2X cable-tie mounts 

• 2X cable-tie mounts 

• 2X rubber bumpers (prevents license plate 

vibration) 

 

https://youtu.be/6iAEE52FOeg
http://www.vagabondmotorsports.com/
mailto:sales@vagabondmotorsports.com

